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Indications

e Transposed score.

e All the fingerings of the saxophone are only recommendations (D.Kientzy,
Les sons multiples aux saxophones, ‘Editions Salabert).
The player must respect the written tone colour and find fingerings which
are the best adapted to his instrument.

. Accelerando

Diminuendo
Key-click
o p—
L Slap tongue
X Only air

Accelerando in tempo



~F~arewell
for baritone saxophone

Meditati = )
adiatiun i =50 Glykeria Koutoula
‘9 = 72\
Baritone Sax. @ = -
[3) &° &°
\__/
o B __o
4
o)
o
(e =
N
Q) =% O & = * O
pPP———— p Pp P
1 X
P 2 :
C5 <Q 3 S =
, o 5 b— 5 ﬁ o
9 = 6 ﬂ e ~
[ fan ) | ] I 1 .I’ ]. P\_/D B
L3P [ | | | |
e) ' ' T T
Pp—=>pr < p < P
X
I 3 EA =
10 inhale exhale nervousi 5 Cs #?
_’#i =4 o J o 0 —~ 7
) E==== SEE== 4
e °° o 0 @) i
< p

———— T ——o < << — pp<p

I
N 2 __©  circular breath
;. = 3 c# = or(")
o)

LR




gliss.

15

L
—-1 0 ]

17

20

E—

—

P = pp

mf>m

sing

’%

exhale

4

subtone

60

inhale

28

I

P inhale

[

';I
| &

o S ]
v

2
v

30




inhale

L

] e/

il
—]
mp

exhale

D

hal

1]

VUV RV &IV LN &

7
nervously

inhale

=z
i

mf

DK

s
= ==

|
o/ |
i

[ 7]

[ 7]

vy
a7 v MDV"]_J.TIVVM & \V

bl

—

%

i

HYV VT &
|
i
e

T

&V VIV &g

=z

o™

o L

mf

e
f

- m

N-un-EER-uER

v

J

36

ol

=0

pp—— p PP p

PP=P

(€0

pp—0Pp

PP

80

CYRENN

o

|
F
%<

[ ]
{

og |||
3

~ O ™)

41

< p



44
p —
7 — g
N —
pp w—0\f pp———
3 =
469 . - sl - m
\ i b
N ' o —— ¢
- R
<mp>]y2<p> PP
mf
480%\'_\ 3
)’ 4 ) €y
\ =S %
) o o > P°
-
m& mf
% o : , be o b
| i h
i ”
6
p= P p mf mp
52 b b o 4 h )
= | - |
o)
P mp S mp
w R
ey b . : 5 = E Poelfse?
=] [) )] |
J & - =
7
P 6




— /’__\
56 l’/g\g l’! > P2 '\'
“y R P 2Py 22 oo, oo o of
A { ol =]
G —3 | Eseeeeee=—
9
S S
L P P s
Yo LT PheefELE £ Lo, ppP o2 £F AF PR e
= 5 -
= v
UW 7 —g— -
Jos2 |
A
1 2
4
T S—C’? > 563h
* . 5 6
Y S S - ; ¥
e 2 = g e
Dj ' — :
p
1 1 | 1
A 24
5 o 3 ‘ __A o 1A . —A o
Cs 5 2 5
63 O ﬁ; gCJ bE‘ 6 #; 7Cs hE 6 =
| N -
D ' - e
P p
(echo)
/——\ﬁ\a
66 -
9 . EE D) = N H i
6= | = : i
o =60
689 _ sing
e : 3
inhale _
/- ————— £
6 = = *
J .




sing

69

inhale

Q|

Il
hie
v

4/

L1

Q]

N

be

L 1

L1

|
b

A4

v

71

e
TP
6 ||v
TP
TP
TP
[T
Ihv.
T>A ﬁ
A
TP
g
A
H latgi
6 <
®
I
o @

68

Zpﬁ

Lo

inhale

‘ﬁ sempre

76

sing

L.

I—J—l



v

77 o
— @ e be o e o o2 o 2
] il : [>]
%& — %
Q) "4\ 4 v v
=LQ =0
3
>
78 — | -
- [ Y] [ 7]
ﬁd be - —— % v &
> =
—
————-»J:SO
79 > > — o _ -
/_9 - o 5 = o = e ] - s .
. e | A
I [ 7] [ 7]
{4 === = % EEEEE =
.) AVAR VARV v vi VVZ VVYVVVY O
81 & |
41 =
74 D7 |
: be
P mf P mp
1
2
3 4
'l harmonic gliss.
5 e © o
84 L e
9' 0 A
£ a0 —
SV
o O , e O 5
v v

<f




~

=

\_—

A S

=

N~

NIV

J:52

93

PP p

pPp<p


Gluka
Ellipse

Gluka
Line

Gluka
Text Box
= 52


